Kieso, et al. Intermediate Accounting, 6th Canadian Edition
Chapter 8

INVENTORIES
EXERCISE 8-14 (15-20 minutes)

	Errors in Inventories

	

 Year
	Net 
Income 
Per Books
	Add Over-statement Jan. 1
	Deduct Under-statement     Jan. 1
	Deduct Over -statement   Dec. 31
	Add  Under-statement     Dec. 31
	    Corrected Net Income

	1998
	$  50,000
	
	
	$3,000
	
	$  47,000

	1999
	    52,000
	$3,000
	
	  9,000
	
	    46,000

	2000
	    54,000
	  9,000
	
	
	$11,000
	    74,000

	2001
	    56,000
	
	$11,000
	
	
	    45,000

	2002
	    58,000
	
	
	
	    2,000
	    60,000

	2003
	    60,000
	
	    2,000
	  8,000
	
	    50,000

	
	$330,000
	
	
	
	
	$322,000


	
	PROBLEM 8-6
	


	(a)
	Beginning inventory
	1,000

	
	Purchases (2,000 + 3,000)
	5,000

	
	Cost of goods available for sale
	6,000

	
	Sold (2,500 + 2,000)
	4,500

	
	Goods on hand
	1,500

	
	
	

	
	
	

	
	Periodic FIFO
	

	
	1,000 X $12 =
	$12,000

	
	2,000 X $18 =
	36,000

	
	1,500 X $23 = 
	  34,500

	
	4,500
	$82,500

	
	
	

	
	
	

	(b)
	Perpetual FIFO
	

	
	Same as periodic:
	$82,500

	
	
	

	
	
	

	(c)
	Periodic LIFO
	

	
	3,000 X $23 = 
	$69,000

	
	1,500 X $18 =
	  27,000

	
	4,500
	$96,000


PROBLEM 8-6 (Continued)

	(d)
	Perpetual LIFO


	Date
	
	Purchased
	
	Sold
	
	Balance

	1/1
	
	
	
	
	
	
	
	1,000 X $12 
	
	=
	$12,000

	2/4
	
	2,000 X $18 = $36,000
	
	
	
	
	
	2,000 X $18
	}
	
	$48,000

	
	
	
	
	
	
	
	
	1,000 X $12
	
	
	

	2/20
	
	
	
	2,000 X $18
	}
	$42,000
	
	
	
	
	

	
	
	
	
	   500 X $12
	
	
	
	   500 X $12
	
	=
	$  6,000

	4/2
	
	3,000 X $23 = $69,000
	
	
	
	
	
	3,000 X $23
	}
	
	$75,000

	
	
	
	
	
	
	
	
	   500 X $12
	
	
	

	11/4
	
	
	
	2,000 X $23
	=
	$46,000
	
	1,000 X $23
	}
	
	$29,000

	
	
	
	
	
	
	______
	
	   500 X $12
	
	
	

	
	
	
	
	
	
	$88,000
	
	
	
	
	


	(e)
	Periodic weighted average

	
	1,000 X $12 = 
	$  12,000

	
	2,000 X $18 = 
	36,000

	
	3,000 X $23 =
	    69,000
	
	4,500

	
	
	$117,000
	( 6,000 = $19.50
	X   $19.50

	
	
	
	
	$87,750


PROBLEM 8-6 (Continued)

	(f)
	Perpetual moving average


	Date
	
	Purchased
	
	Sold
	
	Balance

	1/1
	
	
	
	
	
	
	1,000 X $12  =
	$12,000

	2/4
	
	2,000 X $18 = $36,000
	
	
	
	
	3,000 X $16a =
	$48,000

	2/20
	
	
	
	2,500 X $16 =
	$40,000
	
	   500 X $16  =
	$  8,000

	4/2
	
	3,000 X $23 = $69,000
	
	
	
	
	3,500 X $22b =
	$77,000

	11/4
	
	
	
	2,000 X $22 =
	  44,000
	
	1,500 X $22  =
	$33,000

	
	
	
	
	
	$84,000
	
	
	

	
	a
	1,000 X $12 = $12,000
	
	
	
	
	
	

	
	
	2,000 X $18 =   36,000
	
	
	
	
	
	

	
	
	3,000               $48,000
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	($48,000 ( 3,000 = $16)
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	b
	   500 X $16 = $  8,000
	
	
	
	
	
	

	
	
	3,000 X $23 =   69,000
	
	
	
	
	
	

	
	
	3,500               $77,000
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	($77,000 ( 3,500 = $22)
	
	
	
	
	
	


CASE 8-7

To:

Jeanne Honore, President Fragonard Corp.

From:

Your name

Date: 

Current date

Subject:
Inventory profits and the use of LIFO

This memo is to outline and explain the issues that have arisen from your recent inquiry concerning the use of the LIFO method of valuing inventory. These clarifications should assist in understanding what you recently read in concerning the changes made by certain U.S. companies with respect to LIFO and how this might apply to Fragonard Corp. in view of your goal to report inventory the best way for your company, on the long run.

The LIFO method results in a smaller net income because later costs, which are higher than earlier costs, are matched against revenue. Conversely, in a period of falling prices, the LIFO method would result in a higher net income because later costs in this case would be lower than earlier costs, and these later costs would be matched against revenue.

Inventory profits occur when the inventory costs matched against sales are less than the replacement cost of the inventory. The cost of goods sold therefore is understated and net income is considered overstated. By using LIFO (rather than some method such as FIFO), more recent costs are matched against revenues and inventory profits are thereby reduced.

LIFO would therefore seem to neutralize the effects of inflation because the more recent higher costs become the costs of the goods being sold and therefore affect the income directly, corresponding to the higher prices being charged in the sales price.

If LIFO were an acceptable method for income tax purposes in Canada as it is in the U.S., using LIFO would neutralize the effects of inflation in that higher costs of goods purchased would become costs of goods sold and thereby become deductible costs for tax reporting purposes.

In the case of Fragonard Corp. the effects described above might not be so important as your turnover of inventory is very high.  Furthermore, adopting LIFO for accounting purposes would require the recalculation of your inventories at the end of the year, to comply with Canada Customs and Revenue Agency rules.

CASE 8-11

Given that purchase prices of drilling material are decreasing, the following results will occur from the various inventory costing methods:




      Moving



 FIFO 
Average Cost
 LIFO 

Net Income
 Low
  Middle
 High

(a)
Therefore, site managers would prefer the LIFO method because it results in higher income and, therefore, a higher performance evaluation.

(b)
If FIFO were used, higher costs would be charged to jobs resulting in lower income and performance evaluation. Managers may see the opportunity to increase their income by delaying their request for materials until the last possible moment (i.e. by waiting, the old higher costs may be taken by other managers who order earlier). This may result in managers waiting too long to request materials and, therefore, not having the materials when they are needed for drilling. This could cause delays in doing the drilling work.  Additionally, if it is expected that one-half of the company's drilling material is in the local warehouse, this will in fact not be true.  Site managers would want to have the least amount of inventory (if any) on hand at the site.  Therefore, if many site managers requested inventory at about the same time, there might not be enough inventory in the local warehouse to fill the need. Such a situation would result in delay in filling site managers' requests and the drilling work to be done.

(c)
"Fairness" to all site managers can be interpreted to mean that none is advantaged or disadvantaged by the inventory method used and the timing of their decisions to request inventory shipment. While charges to the managers will be affected by when they order relative to when head office buys the inventory under all three of the methods, the moving average method may be the "fairest" because the fluctuations would be averaged out. The longer the time between head office purchases, the "fairer" this approach becomes.

(d)
For income tax purposes, the FIFO method would be preferred because it results in lower taxable income in a period of declining prices.

CASE 8-11 (Continued)

(e)
For external financial statements, all three methods are generally acceptable and any could be used, regardless of which method is used for internal performance evaluation of site managers or for income tax purposes (recognizing there is a cost to keeping more than one set of records). The only guideline provided in the CICA Handbook is that the method selected should fairly match costs against revenue regardless of whether or not it corresponds to the physical flow of goods.  Therefore, one would have to assess the methods, using this guideline, in light of the specific circumstances in the company.  Therefore, because judgement is involved, any of the methods may be recommended.



LIFO - matches recent (current) costs against revenues, thereby resulting in net income more reflective of future results of operations and trends.



FIFO - may more closely match actual costs against actual revenues if materials purchased are requested and used quickly.



Moving average cost - if materials are homogeneous and randomly requested and used, moving average cost may be argued as being fair because it reflects the underlying system of operations in the company.

ETHICS CASE

(a) Major stakeholders are investors, creditors, Gamble Corporation’s management (including the president and plant accountant), and other employees of Gamble Corporation. The inventory purchase in this instance reduces net income substantially and lowers Gamble Corporation’s tax liability. Current shareholders and company management benefit during the current year by this decision. However, the purchasing department may be concerned about inventory management and complications such as storage costs and possible inventory obsolescence.

Assuming awareness of these benefits and possible complications, the plant accountant may follow the president’s recommendation without violating GAAP. The plant accountant also must consider whether this action is in the long-term best interests of the company and whether inventory amounts would provide a meaningful picture of Gamble Corporation’s financial condition.

(b)
No, the president would not recommend a year-end inventory purchase because under FIFO there would be no effect on net income. 

	
	PROBLEM 9-11
	


(a)  1. Lower of cost and market – definition of market most common in Canada (NRV)

	
	
	
	
	
	
	Completion
	
	Net
	
	
	
	
	
	
	
	

	   Item
	
	On hand quantity
	
	Selling price
	
	and disposal
	
	realizable value
	
	Unit cost
	
	Unit LCM
	
	Total cost
	
	Total LCM

	A
	
	1,100
	
	 $10.50 
	
	 $1.50 
	
	 $9.00 
	
	$7.50
	
	$7.50 
	
	 $8,250 
	
	 $8,250 

	B
	
	800
	
	      9.40 
	
	0.90
	
	8.50
	
	  8.20
	
	8.20
	
	      6,560 
	
	      6,560 

	C
	
	1,000
	
	      7.20 
	
	1.10
	
	6.10
	
	  5.60
	
	5.60
	
	      5,600 
	
	      5,600 

	D
	
	1,000
	
	      6.30 
	
	0.80
	
	5.50
	
	  3.80
	
	3.80
	
	      3,800 
	
	      3,800 

	E
	
	1,400
	
	      6.80 
	
	0.70
	
	6.10
	
	  6.40
	
	6.10
	
	      8,960 
	
	      8,540 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	 $33,170 
	
	 $32,750 


2. Lower of cost and market – U.S. rules

	

  Item
	
	
             On hand quantity
	
	
Repla-cement cost/unit
	
	
        NRV (Ceiling)
	
	 NRV - normal profit (Floor)
	
	

Designated market
	
	

   Cost
	
	Lower of cost and market
	
	Total LCM

	A
	
	1,100
	
	$8.40
	
	$9.00
	
	$7.20
	
	$8.40
	
	$7.50
	
	$7.50
	
	 $ 8,250 

	B
	
	   800
	
	  8.00
	
	  8.50
	
	  7.30
	
	  8.00
	
	  8.20
	
	  8.00
	
	    6,400 

	C
	
	1,000
	
	  5.40
	
	  6.10
	
	  5.50
	
	  5.50
	
	  5.60
	
	  5.50
	
	    5,500 

	D
	
	1,000
	
	  4.20
	
	  5.50
	
	  4.00
	
	  4.20
	
	  3.80
	
	  3.80
	
	    3,800 

	E
	
	1,400
	
	  6.30
	
	  6.10
	
	  5.10
	
	  6.10
	
	  6.40
	
	  6.10
	
	    8,540 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	$32,490


PROBLEM 9-11 (Continued)

(b)

1. Comparison of cost and market – Canadian approach:

Cost
$33,170

Lower of cost and Market – Canadian definition Cost
32,750
Required allowance
   $  420


	Loss Due to Market Decline of Inventory

	420
	

	        Allowance to Reduce Inventory to Market

	
	420


2. Comparison of cost and market – U.S rules:
Cost
$33,170

Lower of cost and Market – U.S. Rules
32,490
Required allowance
   $  680


	Loss Due to Market Decline of Inventory

	680
	

	        Allowance to Reduce Inventory to Market

	
	680


(c)  
Had Fournier applied the lower of cost and market rule to the total inventory instead of each item, there would not have been any need for an adjustment because the total inventory calculated at the designated market (Canadian approach $36,840 and U.S. approach $33,880) exceeded the total inventory at cost of $33,180.

	
	PROBLEM 9-14
	


(a)  1.

	Ulysses Inc. 

	 Calculation of Gross Profit Ratio

	 For the 11 Months Ended May 31, 2002 


	Sales 
	
	 $970,000 

	Cost of goods sold 
	
	

	   Inventory July, 1, 2001 
	
	   120,000 

	   Purchases 
	 $650,000 
	

	   Purchases adjustments: 
	
	

	   Shipments received in May but recorded in June 
	         11,000 
	

	    Unsalable shipments, no credit memos received at May 31, 2002 
	          (2,500)
	

	    Deposits with vendor, recorded as purchases 
	          (3,100)
	

	    Goods in transit on May 31, 2002 shipped f.o.b. destination 
	          (6,500)
	

	    Adjusted purchases to May 31, 2002 
	
	  648,900 

	 Goods available for sale 
	
	   768,900 

	 Inventory May 31, 2002 per books 
	    98,500 
	

	    Goods in transit on May 31, 2002 shipped f.o.b. destination 
	          (6,500)
	

	 Adjusted inventory May 31, 2002 
	
	     92,000 

	 Cost of goods sold 
	
	   676,900 

	 Gross profit 
	
	   293,100 

	 Gross profit ratio = $293,100 / $970,000 = 
	30.22%
	


PROBLEM 9-14 (Continued)

2.

	Ulysses Inc. 

	 Calculation of Cost of Goods Sold

	 For the Month of June, 2002 

	Sales for the year ending June 30, 2002 
	
	$1,060,000 

	Less: sales of rain-damaged shipment 
	
	          8,000 

	Net Sales 
	
	   1,052,000 

	Less sales for 11 months ended May 31, 2002 
	      970,000 

	Sales for the month of June, 2002 
	
	        82,000 

	Less estimated gross profit at 30.22% 
	
	        24,780 

	Cost of goods sold during June, 2002 
	
	 $     57,220 


3.

	Calculation of Inventory at June 30, 2002

	 By the Gross Profit Method

	Adjusted inventory, May 31, 2002  part (a) 
	 $ 92,000 

	Purchases to June 30, 2002, per books 
	 $755,000 
	

	Purchases adjustments: 
	
	

	     Unsalable shipments, no credit memos received at May 31, 2002 
	          (3,000)
	

	     Deposits with vendor, recorded as purchases 
	          (3,100)
	

	     Cost of rain-damaged shipment 
	      (8,000)
	

	Adjusted purchases to June 30, 2002
	   740,900 
	

	Less adjusted purchases to May 31, 2002
	   648,900 
	

	Adjusted purchases for the month of June, 2002
	
	    92,000 

	Goods available for sales during June, 2002
	
	  184,000 

	Less cost of goods sold for the month of June, 2002 part (b)
	
	        57,220 

	Ending inventory June 30, 2002
	
	$126,780 


PROBLEM 9-14 (Continued)

	Calculation of Inventory at June 30, 2002

	 By the Gross Profit Method – alternative

	Inventory July 1, 2001
	
	 $ 120,000 

	Purchases for 12 months 
	
	     740,900 

	Cost of goods available for sales
	
	      860,900 

	Deduct cost of goods sold:
	
	

	   Sales for 12 months part (b)
	 $1,052,000 
	

	   Less gross profit at 30.22 %
	    317,914 
	     734,086 

	Inventory June 31, 2002 *
	
	 $ 126,814 

	* Difference in rounding of gross profit percentage
	


(b)
Some of the major reasons why the gross profit ratio calculated above may not be appropriate to use in assessing the June 30 inventory include:

1. the internal controls over the accounting system have proved deficient and unreliable

2. significant transactions having a direct impact on the gross profit percentage have not been recorded

3. the product mix being sold in the last month is not representative of the inventory that was sold in the previous eleven months

COMPARATIVE ANALYSIS CASE

(a) All figures in Millions of Canadian dollars.

	
	Sears
	
	Bay

	
	Dec. 31
	
	Jan. 31

	
	2000
	
	2001

	Inventory
	 $ 1,015.2 
	
	 $   1,575.3 

	Total Assets
	    3,395.0 
	
	      4,376.0 

	% of total assets
	29.9%
	
	36.0%


(b) Sears Canada reports inventories at the lower of cost or net realizable value. Cost is determined for retail store inventories by the retail inventory method and for catalogue order and miscellaneous inventories by the average cost method, based on individual items.

Hudson’s Bay Company carries its inventories at the lower of cost and net realizable value less normal profit margins.  The cost of inventories is determined principally on an average basis by the use of the retail inventory method.

(c) Since both Sears Canada and Hudson’s Bay Company do not show cost of goods sold on their statement of earnings, the following comparison has been made using total revenues as a numerator for inventory turnover. (Figures in millions of Canadian dollars)

	
	Sears
	
	Bay
	

	
	2000
	
	2001
	

	Total Revenues
	 $ 6,355.8 
	
	 $   7,518.5 
	

	Inventory beginning
	        814.3 
	
	      1,598.7 
	

	Inventory ending
	    1,015.2 
	
	      1,575.3 
	

	
	
	
	
	

	Inventory turnover
	6.95
	
	4.74
	times

	Days to sell inventory
	52.5
	
	77.0
	days


COMPARATIVE CASE ANALYSIS (Continued)

The amount of total revenues was used as a numerator in the ratio, as a surrogate to Cost of goods sold.  Although this is clearly a compromise, it has been applied consistently to the two companies being compared.  Cost of goods sold would have been a better measure for the turnover ratio, as this amount is reported at cost, which is consistent with the amounts of inventory being used in the denominator. Since total revenues include sales at the retail price, this is not comparable to the inventory amounts reported at cost. One would have to be careful when making comparisons with other businesses in the industry, that this application of the formula was done consistently. The use of sales rather than cost of sales does however show the same trends and, when applied consistently, should yield similar analytical results as the use of cost of sales to calculate the turnover.

(d)
On the basis of the above calculation we can conclude that Sears Canada demonstrates a much stronger ability to manage inventories. Its inventory turnover ratio far exceeds that of Hudson’s Bay. Less cash is invested in inventory to generate an equivalent amount of sales. Some of this is due perhaps due to the fact that the product mix is not the same between these two department stores and because Sears sells some of its products using its catalogue order system.

The definition of market that is used by Hudson’s Bay Company to apply the lower of cost and market rule to value its inventories is net realizable value less normal profit margins.  Had it applied the definition used by Sears, which is net realizable value, the inventories would have been reported on the balance sheet at higher values, since the normal profit margin would not have been deducted. Consequently, Hudson’s Bay has a more conservative valuation of its inventory, which in turn causes its inventory turnover to be higher, and the number of days to sell inventory to be fewer.

COMPARATIVE CASE ANALYSIS (Continued)

(a) Cost of goods sold need not be disclosed for the financial statements to conform to generally accepted accounting principles. Several businesses, particularly in the retail industry do not provide this information on their statement of income. Cost of goods sold is often grouped with operating, administrative and selling expenses, as was done by Sears Canada. In some other cases as was done by Hudson’s Bay Company, no disclosure of these grouped expenses is provided although they could be derived from other amounts appearing on the statement of income.  

The reason why cost of goods sold is not reported on the income statement is to protect any competitive advantage businesses might have concerning pricing strategies. Another reason might be that the companies involved do not want to enable their customers to calculate gross profit. The customers would then be in a position to make comparisons with other businesses, which are more competitive on pricing, such as Wal-Mart. This would in turn put the retailers involved at a disadvantage from the point of view of customer loyalty. Wal-Mart does provide information about cost of goods sold in its financial statements and continues to pride itself in reducing prices, as a marketing strategy.  
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